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25 SIMULIA

Answer to Quiz 3
Multiple choice answers:

1)B

2) A

3)A

4)B

5)C

Lab3b
3b-1
HFL, Magnitude
(Awg: 75%)

+4. 61608402
+4,.221e402
+32. 8482402
+3. 4628402
+2.077e4+02
+2.692e4+02
+2.208e402
+1.923e4+02
+1.529e402
+1.154e402
+7.693e4+01
+3.845e4+01
+0.000e4-00

1 L, L, Ly 1 1 25e—2 75e—2 50e—2

Reotql = — + — + —
total h+k1+k2+k3 R=10" 011 T o76 T o147
= 0.666

T, —T, 370 —66
Riotar  0.666

q" = = 456.46 W/m?
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Figure 3c—4. Transient temperature distribution
3c-2
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Temperaturs

a, 5, 10, 15, [x1.E2]
Time

Figure 3c-5. Temperature history; the dashed line represents the steady-state solution
obtained earlier.
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Lab3d
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